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QUESTION 1

To qualify for an instant loan, an applicant must earn a monthly income of at least GBP2000 and cannot exceed
GBP20000 in total liability. How do you enforce these restrictions when requesting an instant loan?

A. Use a Validate rule to call two Edit validate rules: one for income and one for liability.
B. Use two Edit Validate rules: one for income and one for liability.

C. Use a single Validate rule with two conditions: one for income and one for liability.

D. Use Ul controls to validate the entries in the income and liability fields.

Correct Answer: C

QUESTION 2

A life insurance company has satellite offices in various countries. Each satellite office has a work queue. Company
policy requires that life insurance underwriting be assigned to offices based on the policy owner\\'s residence. Which
routing approach supports this requirement?

A. Route the assignment to the correct work queue by using an authority matrix.

B. Route the assignment to the correct work queue by using a reporting structure.

C. Route the assignment to the correct work queue based on business logic.

D. Route the assignment to a specific underwriter based on business logic.

Correct Answer: C

QUESTION 3

A data page holds product information. The data page\\'s Reload if older Than field is set to 15 minutes.
The data page is created at 06:12.

At 06:20 the user requests product information.

At 06:42 the user requests product information.

When is the data page reloaded?

A. 06:35

B. 06:20

C. 06:27
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D. 06:42

Correct Answer: A

QUESTION 4

How do you enable field-level auditing for properties?

A. Add an auditing optional action to the case workflow.
B. Enable the auditing feature on the property rule forms.
C. Add a field validation to the case workflow.

D. Enable field-level auditing for the case type.

Correct Answer: D

QUESTION 5

What two pieces of information comprise a data element? (Choose Two)
A. The name of the referencing user view

B. The name of the data element

C. The name of the clipboard page

D. The value of the data element

Correct Answer: AD
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